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Topic:- General Knowledge and Logical Knowledge

1) Children’s day is celebrated on ./ 919 feaw P HETT STl % I
1.5t September / 5 ISGER
2. 14™ November / 14 FdaR

3. None ofthese/gqﬁ@m:ﬁﬁ
4. None ofthese/ﬁﬁﬁﬁ'ﬁc:lﬁ

5. 1t May /198
Correct Answer :-

o 14" November / 14 7G&R

2) Which railway station has the most number of platforms in India? / HIRd T frg Yo7d W § Wewid ot
HET w72

1. Sealdah / RIaTdcg
2. New Delhi / T3 feaht

3. Howrah / BIdSI
4. Chhatrapati Shivaji Terminus / EELIGARCIEIKAERES|

Correct Answer :-

e Howrah / gldS]

3) Which was the first Indian silent film? / Tgelt U< g fived S <t iz
1. Alam Ara / SHTTH ART

2. Aag [/ 3T

3. Raja Harishchandra / TI\_SITBﬁ%i'_Q

4. Bandini / sfe=it

Correct Answer :-



e Raja Harishchandra / XTSI gRy=

4) Which of these National Parks is located in Manipur? / §-9 & CaE k)| ?T@'q I AfrgR u fRag?
1. Corbett National Park / lec ?T@q KOG

2. Kuno National Park / G+ ?T@’q 3

3. Keibul Lamjao National Park / ﬁ@ﬁ LI Tl@’q 3l

4. Simlipal National Park / Rraferaret ?T@'q 3

Correct Answer :-
» Keibul Lamjao National Park / W GLSIE] QT@H 3

5) Which one of the following is known as the 'Pearl City'? / ﬁ'ﬂ'm - | ﬁ aﬁﬂ-w LIRES "q?‘f R & A ﬁ
ST STl 82

1. Kochi / Il
2. Panaji / qurSH
3. Kandla / h3Icll

4. Hyderabad / %azla Q

Correct Answer :-

« Hyderabad / 3eREIG

6) Which is the longest bridge over water in India? / HRd A e W 991 g T gd Cack:| %?
1. Bhupen Hazarika bridge / 'J;La'rl ESIRED gd

2. Bandra-Worli Sea Link / &I ﬁ“&lﬂ?{ @ﬂ

3. Nehru Setu / W@ﬂ

4. Vikramshila Setu / Wﬁﬁﬂﬁﬂ

Correct Answer :-

« Bhupen Hazarika bridge / YU+ §AIR®T gl

7) Malanpur Industrial Area is in / HTTTYY Gﬁ?ﬁﬁﬁ? 833[ ﬁ’f‘@ﬁ' %?
1. Gwalior / TATCRR

2. Morena / ARAT

3. Shivpuri / FRIaqd



4. Bhind / f¥s

Correct Answer :-

« Bhind /TS

8) Ghatigaon Wildlife Sanctuary is located near which district of Madhya Pradesh? / OTdYITg gueiig

AYIRUY T YR & fopy fora & ur fRa 82
1. Gwalior / TTfCTAR

2. Thabua / T3

3. Bhopal / HIUT@

4. Alirajpur / W
Correct Answer :-

« Gwalior / TR

9) Where is the headquarters of the West Central Railway Zone located? / af3 He ¥ed i &1 H8ITdq
H1 (U 37

1. Bilaspur / fSeQR
2. Jabalpur / SISAYY
3. Hajipur / ETGﬂ'ER

4. Allahabad / SdTgIdIg

Correct Answer :-

« Jabalpur / WIdcTYR

10) In which city will you find the Victoria Memorial? / faaeiar afyae sy fore 2rex # urd?
1. Kolkata / PIAIBT

2. Chennai / éﬂ's“

3. Mumbai / H&3

4, Indore / 3?3?

Correct Answer :-

« Kolkata / PIABTI

11) The famous activist Medha Patakar is associated with which movement? / m HrABdt AYT qich

o srigia d 9t 82



1. Save the Tiger / 94 G Tl
2. Beti Padhao Andolan / S¢1 TT3 Gﬂaﬂq
3. Narmada Bachao Andolan / -_-lﬁﬂ'l CEIC G-I'I_cﬁ?l:f

4. Bachpan Bachao Andolan / U+ CEIRIRIARE

Correct Answer :-

e Narmada Bachao Andolan/“l*-lrdl CEICRIMNG!

12) The river that is called “ Daughter of Lord Shiva” / dg§ 7‘|7ﬂ R «yrrar= g #1 E?ﬂ” CARSIGH %I
1. Ganga / Tl

2. Son /M

3. Narmada / THT

4. Yamuna / YH-T

Correct Answer :-

e Narmada/ '_‘lﬁaT

13) Who is the current Chief Election Commissioner of India? / HTRd & T HTT HS1 frate= STY DI 82
1. Achal Kumar Jyoti / 3{dc] HR Hifd

2. V.S. Sampath /?ﬁ.w. Jud

3. Nasim Zaidi / THH S}

4. Harishankar Brahma / eﬂw ERI

Correct Answer :-
 Achal Kumar Jyoti / 3{dc] PHR i

14) Who established the original Archaeological Museum on the hilltop of Sanchi? / it 'qgﬁﬁ B A L'y
RIS YRTA EIETAd B RITYAT fora=t ot Az

1. Marshall Durand / FTRI §Q. S
2. Charles Correa / m?éaﬂf{m
3. Sir John Marshall / I S afa

4. Sir Thomas Roe / TR UTAT A

Correct Answer :-

« Sir John Marshall / 9% ST IITETFT



15) Find the odd one out: / wﬁwmaﬂﬁq
6,12, 18, 25, 30

1. 30
2.18
3.25

4.12

Correct Answer :-

e 25

16) First General elections in India were conducted in / HRd B 9yYH STH g-1d # smaifora fod
™Y

1. 1950
2. 1952
3.1948

4. 1955

Correct Answer :-

e 1952

17) In a certain language dum dam domn means white sweet sugar and bamn samn domn means shirt was white .
Then in that language the word domn is used for: / Th WTH IS U ﬁ', dum dam domn BT Y white sweet
sugar 3R bamn samn domn BT Y shirt was white ﬁ?ﬂ %I B3 PIS HTYT H domn & ﬁm g Teg &1

FTHTA fopaT T 82
1. sweet
2. white

3. sugar

4. shirt

Correct Answer :-
o white

18) If REMOTE is coded EROMET, then how is COMPUTER coded? /dfé REMOTE &Y EROMET | Sifsd fbar

SITdT 8, 9 COMPUTER B $ BifSd fohaT SIRRT?

1. OCPTMUER



2. OCPMTURE
3. COPMUTRE

4. OCMPTUER

Correct Answer :-

e« OCPMTURE

19) How many different eight letter words can be formed using the letters of the word 'BUSINESS', if repetition is

not allowed? / Tf¢ TARTGIA 1 30T 1Y 8 1 'BUSINESS', XTeg & 31&RT BT SUANT HIP TS 3H&RT B
e fafire 2reg s=1mg 1 wovd &2

1. 6720
2. 13440
3. 1680

4. 40320

Correct Answer :-

e 6720

20) Select the option that is true about the Statements and Conclusions given: / 3 faweq w19 ﬁﬁrq Tl

o fou T Sy 3R fep el & I & e &

Statements: / DY
All singers are good actors /T-[‘J-ﬁ M 3= SAfHAaT %
Rohan is a singer / ﬁ?‘lw TI'IW%

Conclusions:/ﬁwﬁf:
I. Rohan is a good actor / WW 33T GIﬁ-Iﬁ?lT%
Il. All good actors are singers / I o= GIﬁ-Iﬁ?lTW%

1. only conclusion Il follows / Had e 1| WW%

2. only conclusion | follows / Fad =py | Wm%

3. neither conclusion | nor conclusion Il follows /qaﬁwﬂfl @Tqaﬁ'ﬁlﬂf 1 WW%
4. both conclusion | and Il follows / fAsHY | Gﬁ? 1 aﬁr &WW%

Correct Answer :-
« only conclusion | follows / Fad =py | &WW%

21) Shanti Swarup Bhatnagar Awards is conferred on/ &1 ifd WY HEANR Wlﬁ q
T far wiTar 81

1. Musicians/FI“i dBRI



2. Painters / FRIABRI
3. Scientists /asnﬁﬁ
4. Psychologists /ﬁ%mﬁﬁ

Correct Answer :-

e Scientists /%snﬁﬁ

22) Complete the series choosing the missing number: / T IBAT TADHR YEAT BI [T HIFIC:
2,6,12,20, _

1. 25

2.28

3.30

4.35

Correct Answer :-

« 30

23) Complete the series choosing the missing number: / T AT FABR YGAT BI [T HIFIC:
15, 20,30,

1. 45

2. 50

3.40

4. 35

Correct Answer :-

24) Complete the series choosing the missing number: / T AT FABR YEAT BI [T HIFOTC:
3,5,9, 17, 33,

1.52

2. 65

3.48

4. 60

Correct Answer :-



25) Select the option that is true about the Statements and Conclusions given: / 39 fd®eq &1 a9+

PITE it fb AT 7T HYAT 3R Frwul & a7 I8 &:

Statements: / PYH:

Some fruits are not grapes / $S Bd R 781 &
Some vegetables are not fruits / PO afewat wa 71 &

Conclusions: / fass:
I. Some vegetables are grapes /| $© Jfewdi 3R &
IL. Some fruits are vegetables / $© wd Tfowdi &

1. both conclusion | and Il follows /ﬁwﬁfl GﬁT 1] Eﬂ:h &WW%

2. neither conclusion | nor conclusion Il follows /:fﬁﬁ'ﬂv_ﬁfl ﬁqg}fﬁ'@?ﬁf Il GEHTUTW%
3. only conclusion Il follows / FHaq sy || GENTUTW%

4. only conclusion | follows / Had fFrpy | WW%

Correct Answer :-

¢ neither conclusion | nor conclusion 1l follows /:fﬁﬁ'ﬂv_ﬁfl ﬁqg}fﬁ'@?ﬁf I GEHTUTW%

26) Select the option that is true about the Statements and Conclusions given: / 39 fa®e &1 Tg+
Fifore =it ¥ AT g wAt ok sl & ar & wdl &

Statements: / ®Y:
All photos are albums / 94 ST TeaH &
All albums are laminations / T4} Tead AR &

Conclusions: / fAehd:
I. All photos are laminations / It s ﬁﬁﬁ'ﬂ:{%
II. All laminations are photos / it afEeE E‘ITITRH%

1. only conclusion Il follows / Had =py || &WW%

2. only conclusion I follows / Had ey | WW%

3. neither conclusion | nor conclusion Il follows /:f_epfﬁ'ﬁl'mfl Gﬁ??éﬁﬁw 1 WW%
4, both conclusion | and Il follows /ﬁ'@h_ﬁfl GﬁT 1 ?fl:h WW%

Correct Answer :-

« only conclusion | follows / Wﬁwﬂfl WW%

27) Select the option that is true about the Statements and Conclusions given: [/ 39 fApea &1 99

PIRE &t i Y 7T HYAT 3R FArwul & ¥ & I8 2:



Statements: / PY:
All floppies are CDs / 9} ward} HE &

Some DVDs are floppies / T© Sidis! wardt

Conclusions: / fAsd:
I. Some DVDs are CDs / $© Sidis! At &
II. Some DVDs are not CDs / $9 SIS A T-I'&pf%

1. only conclusion Il follows / Had =py || &WW%

2. only conclusion | follows / FHad sy | WW%

3. neither conclusion | nor conclusion Il follows /qénfﬁwﬂfl Gﬁ??ﬁﬁw 1 HWW%
4, both conclusion | and Il follows /ﬁ'@'ﬂfl GﬁT 1 Eﬁ:h G@TUTW%

Correct Answer :-

« only conclusion | follows / Wﬁwﬁfl WW%

28) Who was the founder of Forward Bloc? / BIRAE SiIh & JRITYD DI U?
1. Shyama Prasad Mukherjee/wmﬂ'@ﬁ

2. Vallabhbhai Patel / @IHHTS Tl

3. Subhash Chandra Bose / g4IV 9% S

4. Surendanath Banerjee / Fﬁ?zﬂ?-[ ol

Correct Answer :-

« Subhash Chandra Bose / gHTN 9% I

29) The series given below contains a sequence of numbers. Identify the incorrect combination: /

92 & 7 e §, GEnel B TP H9 SufRE ¥ Tord YAt Tgan:
1,3,5,7, 10, 11

1.3

2. 11

3.10

4.1

Correct Answer :-



The series given below contains a sequence of numbers. Identify the incorrect combination: / LiE]

& S e #, Gl BT UP HH SURRIT & | TTerd Ao UgdTg:
3, 8,13, 26, 41, 70

1.3

2. 26

3.13

4. 41

Correct Answer :-

* 26

31) If HUNTER is coded GTMSDQ, then how will NILESH be coded? / af¢ HUNTER & GTMSDQ &
P fpaT oITaT 8, 91 NILESH &1 &9 Sifsd far S

1. MKHGRF
2. KHFRGM
3. GRFKHM

4. MHKDRG

Correct Answer :-

« MHKDRG
32) Selection Committee for Dronacharya Awards in 2016 was headed by ./ 2016 ®
A REPRI & g aa affifa @1 srpang RT3 T &t

1. Mary Kom /ﬁﬂﬁﬂ

2. Pullela Gopichand /Hﬁ?“l'l"ﬁ'dbﬁl?:(r
3. Rajiv Yadav /TI\_Sﬁ?WI'IE_d

4. Kapil Dev / BT &g

Correct Answer :-

e Mary Kom /ﬁﬂﬁ

33) If MUMBAI s coded NVNCBJ, then how is AMRAVATI coded? / 9f¢ MUMBAI &Y NVNCBJQ
Fifed foar ST @, @ AMRAVATI S A Hifsd far wrm?

1. BNSBWBUJ
2. BNSBUBUJ

3. BMSBUBVIJ



4. BMSBWBUJ

Correct Answer :-
e BNSBWBUJ

34) The Indians who were conferred with the Ramon Magsayay Award 2016 was Bezwada Wilson

and / 3 URJH o2 T AR RIPR 2016 | TG foar Tar o1, 3 SwarsT fawq iR
q

1. Sanjiv Chaturvedi /ﬂ\_fﬂaﬂﬂﬁ
2. T M Krishna /EPIQTIQ'TEUT

3. Kiran Bedi / fop=or oicT

4. P Sainath /tﬁ.ﬂ'@:ﬂ?‘[

Correct Answer :-

e T M Krishna /aQﬁW

35) What is the capital of the states of Haryana and Punjab? / BRGTON 3R USg & IS4l B ISTLUTHT
T

1. Gandhinagar / MR
2. Chandigarh / dan G

3. Jamshedpur / \_rm@—d'ﬂ?
4. Bathinda / Hf3ST

Correct Answer :-

e Chandigarh / H@TI_GT

36) Complete the series choosing the missing letter/s: / &l &R/ 3MERT DI EGEZELERI | Ul P
b__a__aab__ab__ __

1.b,a,b,a,b

2.3,b,a,b,a

3.a,b,a,3a

4.a,a,b,b,a

Correct Answer :-

e a,b,a,9,a



37) Bharathi is eight ranks ahead of Divya who ranks twenty-sixth in a class of 42. What is Bharathi's rank from the

bottom? / WIRd, faaaT A aie RIT 3Tt § et 42 Y wan ¥ siivwal R 31 - & YR &1 w4 w1 gime
1.20th 7 20

2.9th/ of

3.34th ) 347

4, 25t / 257

Correct Answer :-

. 25th/ 25l

38) In a row of 25 girls, when Momina was shifted by six places towards the left, she became 13th from the left end.
What was her earlier position from the right end of the row? / 25 ﬂmﬂﬁ W‘T%I’ ﬁ:, STg MfEET arit GﬁT ¥0
R A i far T al a9 RR ¥ 13 9 R™_IM R 81 1| 59 ufea 3 ot R 3 s« vy o fRufa
a1 4t

1. oth

2. 61

3.8t

4, 7t

Correct Answer :-

39) In a certain code language King is brave is written ge dest axob and Our brave soldiers is
written dest dosta cesk, then how is brave coded? / Th @WH CAERYL ﬁ, King is brave Cal ge dest
axob @1 ST 8 3R Our brave soldiers &\ dest dosta cesk for@1 SiTdl 8, @ brave H 4 Hifsd frar
STATT?

1. dosta
2. cesk
3. axob

4. dest

Correct Answer :-

40) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.



Choose the odd one out:

/ﬁnagr@ausrﬁ, &R & $o IYE fAr e §1 37 9t °f Faa U ) SisHr, 0 JHHT § JAafP TP
AT I

I8 A faww &1 999 P
1. XW
2. PO
3. FG

4. ML

Correct Answer :-

. FG
Topic:- Mental Ability and Mental Aptitude

1) .
In the sequence shown below, which figure comes next? [ sl &3 7°r && &, 39T

HTHT Hi T 7REMN?

O &9 1G]

&
Y,




W

Correct Answer :-

&

4.

2) ,} R
What percent Df% is é? / %Hﬁﬂmqﬁ‘ﬂﬁ é 87

1.75%
2. 66.66%
3. 90%

4. 88.88%

Correct Answer :-

» 88.88%

3)
The length of a gridle is 5% m, when 4% m 1s cut off, what will be the length of

the remaining part? / T &{eEr (s ﬁmﬁﬁ% e &, aﬁrsﬁzl%:FﬁETiﬂE
fear amar & ar 9w sEr f deE w=ar gei?



:

10
4.

Correct Answer :-

L
10
4)
If the following two squares shown below overlap, which one of the following options
is formed? / afg e &r @t HfdaTua &1 &, a1 e &7 & Fia a1 ve AFeq gaar 87
1.
2.
3.
S
4,

Correct Answer :-



5) .
In the sequence shown below, which figure comes next? / sl 63 7/ && &, 39T

HTHT Sl T HREN?

X
> 9%@
3.(?|<
4.@>|<

Correct Answer :-

X

6)



What is the annual interest rate for 25%, compounded half yearly? / 3¢ aiftfe Haifora, 259% & forg affe
TS & T §?

1. 50%
2.56.25%
3.25%

4. 45%

Correct Answer :-

* 56.25%

7) What number should be added to both 3 and 2 in order to make them in the ratio 5:4? /5: 4 * SIUTd o

T & 1T 3 3R 2 S & o T Wit & i TR
1.4
2.2
3.1

4.3

Correct Answer :-

8) Average of 51 results is 20. Average of first 20 of them is 15 and that of last 30 is 18. What is the value of the

215 result? / 51 TROTTHY BT ST 20 T 1 TUH 20 BT 3N 15 & 3R 34T 30 BT 3 18 21 219 GROMH BT
T T g2

1. 180
2.210
3.90

4. 250

Correct Answer :-

9) If the length of a square is increased by 10 % and its breadth by 20 %, then, by what percentage will the
area of the new rectangle formed increase as compared to the original square? / gfe Uh Tt Bt ?IWT&‘ 10 % dd
3R 3B} TS 20 % IF ¢ Wl 8, 99 "¢ Affa smaa & exwa o ga ot &Y ga-r A fra ufawra #t
gfs ghit?

1.32%



2. 24%
3.36%

4. 30%

Correct Answer :-
o 32%

10) If A alone does the work in 15 days, how much time will they take working together to complete the job, if

A is 30 % more efficient than B?/WﬁmAﬁT\‘ﬁwaﬁ' 15ﬁﬁﬁ$€m%3ﬁ?wﬁBaﬁgﬂmﬁA,
30 % 3MTIF FRIGRIA § dl I 1 &1 ATY e s &1 1w o e awa aam

8 8
Sﬁdaysf siﬁ—rr

11 11
Sﬁdays / sﬁﬁ—rr

15

15
8 —days / sﬁﬁ—rr

23
5 5
Sﬁda}rs / sﬁﬁ—rr

Correct Answer :-

11 11
Sﬁda}rs / Sﬁﬁ_ﬂ

11) School A enrolled 65 pupils for an exam and 80 % of its students had passed. In School B, 10 students more
than in School A had enrolled, but as compared to School A, 4 less had passed. What is the percentage pass in

School B? / faeImard A A usr wien & e 65 faenfial &) amifea frar i 39 80 % faendf s<hf gt
| faenme B ¥, femaa A &Y g | 10 faeneff siftres ifeea gu, dfew faemem A St gan g4 w0
Situf gu I faermerg B ® Sl wfa=a w32

1.76 %
2.60 %
3. 64 %

4.70 %

Correct Answer :-

e 64 %



12) Two trains start running towards each other from two points 400 km far from each other. The speed of the
first train is 30 kmph and that of the other is 50 kmph. How much time will it take before both the trains meet

each other? / TP gaR A 400 freft gr f Rl A ) ¥ U goR Ft 3R T IR= Hell ¢ | Ugel ¥l o1 ard
30 fomft ufar et ok gt 1 ara so fseht ufa ger 31 S Yol &1 U gy & frem o faan wwg e

1. 15 hrs / 15 G¢
2.5hrs/5€|%
3. 10 hrs/ 10 ©¢

4. 8 hrs / 8 °¢

Correct Answer :-

e 5Shrs/59c

13) Two trains of equal length are running on parallel lines in the same direction at 46 kmph and 42 kmph. The
faster train passes the slower train in 180 sec. What is the length of each train? / THI ?nmé P G ¥ol JHIOR
TS W AT G H 46 felt ufer der 3R 42 fomeht wftr ver ) 9a 381 §1 991 ¥ 180 Apvs & didt Y &t
IR Tl 7 | TS Yo B TaTS 1 32

1. 100 m / 100 HieX
2. 120 m/ 120 Hiex
3.80 m /80 TR
4.90m /90 Hiex

Correct Answer :-

« 100m /100 HIR

14) There are 30 students in a class. The average age of the first 10 students is 12.5 years. The average age of
the next 20 students is 13.1 years. What is the average age of the whole class? / T DHET H 30 ﬁﬂTQﬁ%l UYH 10
faenffat &Y oivrd omg 12.5 99 81 3Tl 20 el Ft sivra oy 13.1 a9 31 Tyl wem i sira omg
82

1. 12.5 years / 12.5 CL
2. 12.7 years / 12.7 99
3. 12.8 years / 12.8 98

4. 12.9 years / 12.9 CL

Correct Answer :-

e 12.9 years/12.9 T



15) A and B can do a piece of work in 12 days; B and C can do it in 15 days; and C and A can do it in 10 days.

If A, B and C work together, how many days will they take to complete the work? / A 3B Wﬂ"ﬂfaﬁ 12 ﬁ?
T QRT B A& d g; B 3R C I 15 fa1 § [T 6 Ao 7; T4 € 3R A I 10 f& & RT A Ao 71 1 A,

B 3R C TP ITY BT HXd §, 91 HT &1 RT B | 9 fva= e At

1. 14 days / 14 T4
2. 10 days / 10 f&=1
3. 12 days/ 12 fa1

4.8days/8ﬁ7f

Correct Answer :-

« 8days/8faT

16) The sum of the ages of 5 children born at the intervals of 3 years each, is 60 years. What is the age of the

%oungestchild?/msaﬁ%mﬁﬁa@zsaﬁfaﬂeﬂgmmsoﬁ%l T BIe T2 Pt 3T T

1. 6 years/ 6 Gl
2. 12 years / 12 99
3. 8years/8a'5f

4. 10 years / 10 T9

Correct Answer :-
e Gyears/6 CL

17) If Rs. 726 is to be divided among A, B, and C such that A : Bis 5:4 and B : Cis 9 : 10, then how much will
B receive? / Tfe 726 TUY BT A, B, 3R ¢ § 39 UpR fAHIa fParSarg fF A:B,5: 48 3MRB:C,9: 108
dt B ! fra= $UQ U g

1. Rs. 540 / 540 3T
2. Rs. 240 / 240 39T
3. Rs. 270 /270 Y

4.Rs.216/216 30U

Correct Answer :-

¢ Rs.216/216 30

18) The average age of the rain in the first four days of a week was 26 mm. In the last three days, the average

was 29 mm. What is the average rain during the week? / Wm%wﬁwﬁﬂ‘rﬁaﬁm Gﬁﬂ?l' 26 fordt
7| 3iferw i+ fot & sira 29 frd a1 TwaTe & Qv Siwa auf T 32



1.27.3 mm
2.27.5 mm
3.27.2 mm

4. 27.4 mm

Correct Answer :-

e 273 mm

19) The average age of a class of 50 students is 20 years in 2017. What will be the average age of the class one

year later in 20182 /2017 % 50 faenfiat &) wem &Y shwa amy 20 af B | wem Y i omg ue 9 uyTa
1ty 2018 | fat g2

1. 19 yrs/ 19 99
2. 18 yrs / 18 a4
3.20 yrs /20 Y

4.21yrs/21 39

Correct Answer :-
e 21yrs/21 @Y

20) The age of Kunal is 18 years and the age of Rohan is 13 years. What will be the ratio of their age after 15

years? / PITE DI AT 18 T 3R Ae Pt ARG 13 T 1 15 T & YT, STH! MY PT U T THIM?
1. 33:28

2.2:1

3.1:2

4, 18:13

Correct Answer :-

e 33:28

21) By selling a radio set for Rs. 960, a man incurs a loss of 4%. At what price should he sell the radio in order
to gain a profit of 16%? / TP ST AT B 960 TUY T IAB TH ATGH! Bl 4% BT JHATH IS IS 2 |
16% BT ATH FIRIA B3 & fore 39 v goa w st s anfgee

1. Rs. 1360 / 1360 SUY
2. Rs. 1160/ 1160 ST
3. Rs. 1260 / 1260 TY

4. Rs. 1460 / 1460 3TY



Correct Answer :-

e Rs. 1160/ 1160 3T

22) Vimal buys 10 pens for Rs. 12 each and 15 pencils for Rs. 6 each and sells each pen for Rs. 14. How much
should he sell each pencil in order to earn a total profit of Rs. 65? / IEERERVEL R Lo EIC] ¥ 10 vaH
3R 6 TUA TS & 3T | 15 URa &) @ 3R TS Fad Y 14 393 ¥ 9 faam| 9 65 FTFa ary
T He & g, 38 Ude e 1 fva 9 9= anfze?

1. Rs. 7.50 / 7.50 3T
2.Rs. 11/11 309
3.Rs. 6/ 6300
4.Rs.9/9 %0

Correct Answer :-

« Rs.9/9%0

23) Find the average. / 3N fReferd |
7,16, 26,36,46 & 55

1. 31

2.39

3.41

4. 32

Correct Answer :-

24) A train covers 400 m distance in 24 sec. Its speed is / T Yo 24 HPHUS | 400 HeX Bt Qﬂ T HAL B
ELEdEICK

1. 60 kmph / 60 fortit Ufct et
2. 30 kmph / 30 fobeft Ufd get
3. 5 kmph / 5 fooHt ufdl Her

4. 45 kmph / 45 4t ufa der

Correct Answer :-

« 60 kmph / 60 foH Ufd der



25) Anand bought a Maruti car for Rs. 1,75,000. He spent Rs. 10,000 on car accessories and fittings. If he sold
the car for Rs. 1,95,000, how much profit will he earn? / 3T-q ] Udh AR R &I 1,75,000 I H @I
I BR AWM AR BT R 10,000 T2 W U1 afe 399 R Y 1,95,000 $02 & 99 fear A a5
fora=T a1y FaRT

1. Rs. 40,000 / 40,000 ST
2. Rs. 20,000 / 20,000 3T
3. Rs. 10,000 / 10,000 3T

4. Rs. 30,000 / 30,000 TUY

Correct Answer :-

« Rs. 30,000 / 30,000 SUY

26) To certain number 7 is added. The sum is multiplied by 5, the product is divided by 9 and 3 is subtracted
from the quotient. If the remainder is 12, what is the number? / fafia S@n 7 #t \_rﬁST T T 1 5 B GIRT
T[oTT f3aT SiTaT €, qUFTd B 3 ) faufora farar smar @ iR U e | 3 &) gerar ST 81 afe Avhd 12 8
@ HE 182

1. 48
2.40
3.24

4.20

Correct Answer :-

27) (10002 -9992) is equal to / (10002 -9992), P W gl
1.1

2.1,999

3. 999

4. 1,000

Correct Answer :-

e 1,999
28) If 150 is 25% of a number, then 125% of that number will be i ‘qﬁw ST BT 25%
, 150 8 d 39 TBWAT $T 125% ghmi

1. 750



2.700
3.720

4. 800

Correct Answer :-
e 750

29) Which one of the following four addresses is NOT EXACTLY same as the one given below? / o %& ™ IR

Tdl § 9 19 42 T vd & Se a9 D19 91 T T o7

Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(i) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(ii) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(iii) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(iv) Michael Noah

18 Sha Wan Road,



Guangqling Industrial Park, Yangzhou,
People's Republic of China (PRC)
1.1

2.1v

3.1

4.1

Correct Answer :-

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / LG

S 713 g ¥, srerRY iR w=mnail &1 v wH fAfed 81 Tea JaieH ugenfu:
i.rtquo4001rouqt

ii.rtquo4001rougt

iii.rtquo4001rouqt

iv.rtquo4001rouqt

1.1

2.1v

3.1

4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)



The following is the distribution of weights (inkg) of 25 persons: The class mark of the class 50-60 is:

Weight in kg:

30-40

40-50

50-60

60-70

70-80

Persons:

2

9

8

4

2

/25 safEaat ¥ aaa (FFar &) F1 g Fe=faf@a & =3t 5060 1 =t g &

T & a5

30-40

40-50

50-60

60-70

70-80

G EE

[

k2

1. 50
2.55
3.8

4. 60

Correct Answer :-

e 55

2)  Inthe adjoining figure, AB || CD and 't'is the transversal. Ifa=7x-12and b=6x+7, thena=
/ Folael 3P # AB || CD IR v 3He &) A¢ a=7x-123 b=6x+7.@l a=

A _:E/, » B
C ‘—L * n
-
1. 112°
2.135°
3. 100°

4.121°

Correct Answer :-
e 121°

3)
Divide (15x2 - 11x + 2) by (3x - 1) and find the quotient. / (15x - 11x + 2) T (3x - )T fFafada =

AT wTee AT FI



3x-5

Lo |
2, B

2x+3

.q
4 S5x+1

Correct Answer :-

4)
In a parallelogram PQRS. if PQ=23 cm and SR =3y + 2, theny = /T F§AGT a—g';j?rr PQRS

# afg Q=238 . AR sR=3y+2%,ar y=_
1.9
2.6
3.7

4.5

Correct Answer :-

e 7

Snc:-lvre.-fm’.ﬂr;:z}‘,_g—-E JE20 = y R gar A

X—4 2 2X—4 2
11
1.-
13
2.- =
11
3. &
o
4. 2

Evaluate: {125+ 30.027 / 3125+ 30.027 & &= a1d &3]



1.5.03
2.0.53
3.53

4.5.003

Correct Answer :-

e 53

s

|

8) A star is 12 light years away from the earth. How much time will the light take to reach the earth

from the star? / TP ART, J1 | 12 UHT a9 D1 g3 WX 21 3 IR A gt 9 3 o UPb1=1 B
=T T @ame

1. 10 years / 10 a9
2. 15 years/15a'5f
3.5years/ 5 Gl

4.12 years /12 CL

Correct Answer :-

e 12 years / 12 a9

9) A solar panel is better than a solar cell because: / R Id &1 LGS o IR U9d 9geR 3, Hifb:

1. It can work day and night / I8 f&=1-31d &TH &R THdI g |



2. It is less expensive / Tg ®H Tl grar 3|

3. It provides more electric power / T8 3 fagaa Wfad UaM Har gl

4. It provides less electric power / U8 4 fdgad fdd UG Hdl gl

Correct Answer :-
« It provides more electric power / T8 3% fagad wfad U #xar g |

10) Find the smallest number by which 1575 must be multiplied so that the product may be a perfect square. /

I TYAH BT B JTd B Foraas gIRT 1575 1 0N foan S =niee arfes ufvons v quf @t g
1.5
2. 11
3.7

4.3

Correct Answer :-

11) Devilost 25% by selling a bicycle for Rs. 2250. Her C. P. is: /aﬁ G| U m 2250 T4 ¥ faspa s
TR 25% B g §3 | STPTHYT T4 &

1. Rs. 3150 /3150 ST
2. Rs. 3000 / 3000 TG
3. Rs. 2920 / 2920 TY

4. Rs. 2800 / 2800 T

Correct Answer :-

« Rs. 3000 /3000 SUY

12) Which of the following is used to record intensity of an earthquake? / fafafRad I« Wﬂ'ﬁ?‘ﬂ'ﬂm
B gl B & 1T IuaT e wirar 32

1. Seismograph / BiRsIpI
2. Anemometer/ TATAIHIER
3. Barometer / Rt

4. Electroscope / mﬂ

Correct Answer :-



o Seismograph / AT

13) Aquatic animals survive because of the presence of atmospheric gases in water. This is possible due to

which of the following property of gases? / SIcl T Iufq aqus?ﬂtr T & HRUT ST JaR Sifad Tgd
g1 98 T & Fafafaa & 3 59 qured & sru gva 82

1. Surface tension / 8 d-1d
2. Viscosity / =TT

3. Fluidity / dXeldl

4. Diffusion / IERRS

Correct Answer :-

« Diffusion / fa&xur

14) Compute the compound interest on Rs. 8000 for 2 years at 10% per annum when compounded half yearly.

/2t & fo1T 10% ufaad R 8000 TUA & Ahgfes SaTSl B TUFT B, o9 Tehgfg Srefarffe 21
1. Rs. 1642.50 / 1642.50 30T

2. Rs. 1578.20 / 1578.20 304

3. Rs. 1810.05 / 1810.05 ¥

4. Rs. 1724.05 / 1724.05 34U

Correct Answer :-

e Rs. 1724.05/1724.05 30

15) The diagonals do not bisect each other in a ./ fawut Udh §'\"’ﬁ' :a| - # fgvrfora =8t ped
g

1. Rhombus /ﬂﬂﬂﬁﬂ\_ﬂ

2. Square / aif

3. Trapezium / HHH

4. Parallelogram / JHIAR E@";I\_ﬂ

Correct Answer :-

o Trapezium / HHIN

16) The area of a rhombus is 120 cmz. If one of its diagonals is 24 cm, then the perimeter of the rhombus is: /

TP T TgYS BT 8T6 120 cm? 31 TS TP TP fywpof 24 Taft. § O Gwagys &1 ulkam 8:



1.46 cm
2.32cm
3.48 cm

4. 52 cm

Correct Answer :-

e 52 cm

17) Organelle with irregular net work of canals, running from the nucleus to the surface of the cell is: /

S & PIRTBT Bt TA§ P o1 I7, ATGBISH F ARG Aead aTd BB, 9§ FEA o
1. Golgi bodies / et &g

2. Lysosome / AP

3. Endoplasmic reticulum / gt Sferent

4, Centrosome / ARPHII

Correct Answer :-

« Endoplasmic reticulum / Sfaga srfereT

18) Neurons are cells of: / ARBIRIETY (*RT) = F FIRET FA &
1. Nerve / a1

2. Neck / 53
3. Liver / dod
4, Kidney / ga

Correct Answer :-

« Nerve /df3@T

19) In some animals both the sexes male and female release their gametes into the water. This type of

fertilization is called ./ PO WHERI | 7R 3R A1e1 S fifT o v urit A sisd 8139
UPR & A= ot PEIAAT |
1. CIoning/?ﬁhﬁ‘T

2. In vitro fertilization /Eﬁ@ﬁﬁ?ﬂ
3. Internal fertilization / 3ffaR fAS==

4. External fertilization / STgl e



Correct Answer :-

« External fertilization / STeT —f9=

20) Name the organelle that helps in cell division and form asters at poles during cell division. / 3

PIRAGIT BT ATH TATST S BIRASBT AU A TeTae gia1 8 94T HIRMST fTUSH & 974 gail ®
aR® &1 At a8

1. Central body / CRARAREAL
2. Cytoplasm | DIRBIEH

3. Chromosome / 1[UT{A

4, Centrosome / AR P

Correct Answer :-

o Centrosome / AR DT

21) A cuboid has total surface area of 414 cm? and if its LSA is 324 cm?, then the area of its base

is: /wa?uﬁ414ﬁtﬁ2$r§mqmam%eﬁwﬁmwjmaa3z4ﬁtﬁ2, 2 @ 3P SMUR
PT ETGA &

1. 80 cm
2. 90 cm
3.92cm

4. 78 cm

Correct Answer :-

22) Natural gas stored under high pressure is: / 3= gId P 3ritd UG Bt n‘éwﬁwﬂw %:
1. CNG / GiTSit

2. Water gas / SIcT T
3. LPG / TqUToit
4. Producer gas / Ehw o

Correct Answer :-

« CNG / gt



23) Rat: 4 chambered heart; crocodile: chambered heart. / 9gI : 4 P&HIEH; HRHS:
DEHTEST

1.3
2.4
3.2

4.1

Correct Answer :-

24) What is the correct sequence of the following stages in the life cycle of dryopteris ?

Prothallus , sporophyte , sori , gametes, spores , zygote

/ STy ¥ Sfta-raw # fFaferfad @von &1 gt srghy w82

e, fiemueas, femur, gwe, fem, gwas

1. Sporophyte, sori, spores, prothallus, gametes, zygote / SSTU3RaE, SISTUET, ST, MATH, THS, THIS
2. Zygote, sporophyte, spores, sori, prothallus, gametes [ JTH-I, @WFUJ,B@E, a%mg, _&ﬂTrlTUl“cﬂT-ﬁ, Eﬁﬁ?lﬁ, YHD

3. Spores, sporophyte, sori, prothallus, gametes, zygote / WUJ, WTUJ,G@E, mﬂﬁ, u‘rﬁw, giHDH, JIHAS

4. Spores, sori, prothallus, gametes, zygote, sporophyte [ Eﬁ\_rﬂT{L EﬁTrﬂTﬂUFﬁ, u‘r%m, i, JIHAY, WTUJG@E

Correct Answer :-

« Sporophyte, sori, spores, prothallus, gametes, zygote / STU3fa, SSTUeT, SIS, WY, THS, JHAS

25) AOB is the diameter of a circle with centre 'O'. C is any point on the circle and AC and BC are
joined. If ~CAB = 70°, then ~CBA = ./ % '0' & A4 TP g« BT ART AOB 81 901 WX Fis i faig
C? 3R AC 3R BC Wgaa €1 afe ~CAB = 70°, @Y 2CBA =

1. 50°
2.20°
3. 40°

4. 30°

Correct Answer :-

26) In a periscope, the incident light falls on the reflecting mirrors at an angle of . | iR
T, Jmufard UHTRI WIadl guui FHURWRISATS |



1. 60°
2. 180°
3. 90°

4, 45°

Correct Answer :-

. 450

27) The radiation in sunlight which makes a solar cooker work is: / ﬁ& & YT | fafdor, s R PDHY Cau]
AT, 8

1. Visible light rays / G-I U= B1 {01
2. X-rays/ TR fovol

3. Ultra violet rays / RIS faRof

4. Infrared rays / 3{d¥dd foof

Correct Answer :-

e Infrared rays / 3{dcd fopof

28) Extensive plantation of trees to increase forest cover is: / @ &3 # gfx ®e & forg Ut
T& H F&RIYUT T I8 Heardl o:

1. Social forestry / HTHIST® dTfH!
2. Agro-forestry / qvﬁf?ﬂﬁﬁ

3. Afforestation / d=1dhRUl

4. Deforestation / fAd=ii@xur

Correct Answer :-

« Afforestation / G-IHUT

29) Haemophilia is a/an ./ mw %I
1. congenital disease / SFISITA T

2. deficiency disease / HEIEI T

3. acute disease / TTGRIT

4. chronic disease | dYdIfera I

Correct Answer :-



« congenital disease / SFSITd T

30)

The product of (3x +§j (3»%} 1S: f(3x+§] (3x - i} T UTARA ¢

-

3xd-

4
1. >

Qxl &

N
-
[ %]

Ox-—

16 24x°
Qpl-—-.
4, L G

¥

Correct Answer :-

16
2

Oy -
. ¥



